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1) y +SINXcos Xydx+( ); +sinyjdy=0.

cos? xy cos? xy

OtBet: tgxy —cosx —cosy =C.

3
2) (x*Inx —2xy )dx +3x?y?dy =0. OtBer: XInX —X +3(/—2:C.

3) (2xy +3y?)dx +(x? +6xy —2y)dy =0. Otrser: X°y+3y’x —y?=C.

4) ydx—(x+y2)dy:0. OTtBer: %—y=C, y=0.
5) xy'—2x%.Jy =4y. OrtBer: y=x*(C +In|x|)?,
y=0.
1(x*Inx x4
6) yXx +y=x3Inx. OtBer:. Yy =— -2 _4+C|.
) yx+y TBeTyx£4 16 ]
dx . - 2
7) —————— =—Ctgx sin ydy . OrBer: tg°x +C =c0s“y
COS” X COS Y

= y:iarccos(iw/tg2 x+C)+ 27k, keZ.

8) (x*+3y®)xdx +(y® +3x?)ydy =0. Orser: x* +6x°y* +y*=C.
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